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IF'y  \"then its nth derivative y is

equal to -
(A\) Ln;l
W
(©) o+l

(DY  None of the above

If'y = sin(ux). then its nth derivative

¥, iscqualto:

)

(B) a“sin(ax +g]

(C) asin(m + 1;]

(D)  None of the above

My =¢™ coshx .theny, isequalto:

(A) (a’ +b’)% e

cos[bx ~ntan” P-)

(B a.'.' _ b: )“: e

cos[bx +ntan”’ E]

a
(C] |a:+b2] :'cllcm[

(D) None of the above

UG 2IMSub/Gen ' 10300

R y=-x"b A @A adl FIA y,

TR
(A) |n-1
(B) |n
(©) [n+l
(D) Iw & A Bf A
a® y = sin(ax) 8, & IHW nﬁﬂi‘-‘l"-l
Y, P T ¥ :

0 nx
(A) 8 sm(ax +-2—]
(B) a"*ﬁn(ax+£]

) 2

C aqin[nx+-‘-‘—“]
(C) ; 9
(D) Iw ¥ A P T
Wy =™ coshx . A v, ¥
(A) (a3+b’)%e”

cos[bx—nlan"g]

d

(B) (az_bz )2”1' elll

cus[bx +ntan”’' E]

a

(0) (i!2+l:;2 "l"l‘;'c“ cos[bx*-i;»
(D) 30w A ¥ B W
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Leibnitz theorem is a rule to find nth

derivative of the :

(A)  Sum of two functions of x

(B) Difference of the two
functions of x

. (Cr” Product of two functions of x

(D) None of the above

Under certain circumstances, if the
function f(x) can be expanded as
power of x, then

2
x L
f(x)=(0)+xf'(0)+ E f'(0)+....0

is known as :
( Taylor’s series
.@1/ Maclaurin's series
(C) Exponential series
(D) None of the above
f(x)=vx in
ascending power of x is :
(A) Possible
J}H/ Not possible
(C)  Only upto three terms possible
(D) None of the above

Expansion of

If {x) = sin x, then f*(0) isequalto:
(A) |
(B) 0
S

(D) Noaeefthe above

4,

7.

(3)

R i @& Frem & Prad nd
O~ e b

A) x AR HIME
(B) x 3Vl W T W
€) x3 QA & & TR W

(D) IRF & 3 B

B MRehd & IR 5@ fix) A «
A o 3 w9 A ReRa B @
t a

2

x »
f(x) = f(0)+ xf"(0)+ Ef (0)+...0

3 @Y & 9 o §

(A) TR R e

(B) ¥dN A g

(C) exia e

(D) I & § B

x 3 I A fx)=Vx F
Rem ¥

(A) wwad

(B) wva ¥

(C) Faw &9 & a9 ov

(D) I d @ a8

IR fix)=sinx, & (*(0) W ¥, &

A) 1
(B) 0
< -l

(D) < & @ Bt

[PTO]
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8. If Rx) = sec x. then {"(0) iscqualto: 8.

@) |
(B) -l
(€ 0

(D) None of the above

9. Iffix)=¢*" then {°(0) isequalto: 9

(A) |
(B) -l
0

-

(D) None of the above

ox
10. |fn=rcose.y=rsin9,lhcn—_,c;r-is 10.

cqual to :

<) =
(D) None of the above

11.  Iffix. y) be a homogeneous function  11.

of nth order. then f{x. y) can be written

ngl ¥
(C) ”(;)

(D) None of the above

UG(2)M(Sub/Gen /10300 (4)

&R fix)=secx ¥ & °(0) W} B

(A)
(B) -l
< 0

(D) W A A =

R fix) - & (7(0) WY &
(A) |

(B) -

€ 0

(D) I & & B @

ox
R x =rcosh, y=rsin@. A >

A Y
(A x
) ox
or
(B) Y
%

(D) I & A P W
IR fix.y) nd H9 H CF FARNY B
R @ fxy) @ RmEmwmasmd:

o[ X
w )

n-1 _Z
o <)

naf ¥
(©) w[J

(D) e A A B @
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12 Ifuw - Nix. v) be & homogencous 12,
function in x and v of degree n, then
!ﬂl-l + .\f@ is equal to :
X Ty
AT " nu
(B) |
() (n-lu
(D)  None of the above
N
13. .l_.lu—x— is equal to : 13.
‘/UH’” loga
(B)  logx
< o

(DY  None of the above

Lt (sinx)™®

4. "y is equal to : 14.
(A) O
AB) I
() -l

(D) None of the above

15.  Theequation of tangentto the ellipse |5,

x* oy . .
5 +t—= | i .
J7 * 7 = atpoint (a,B) is

hd A

(A) T+
a’

X
_2.|.
a

u—:'t-%i--l-l:ﬂ

=

IR

7 =1

= o
-

o
[ )

(C)

(D) None of the above

UG(2)M(Sub/Gen)10300 (5)

®u-Ax.y), xMy @R o A

u N
T T BE R R 'a_x'”’E;

e}

(A) nu

(B) |nu

(€) (n-1)u

(D) It A QB

at -1
It —— wath:
Al X

(A) loga

(B) logx

€ 0

(D) 9t A A _f W

lanx

Lt (sinx) a }

M2

A O

(B) 1

(€) -l

(D) I X A B

e 55+ Lo =1 o Reg (o) B
2. b (@.B)

R wften & wlier
(A) :_;+E_§=

® 3ot

() %+I:—¥+l=0

(D) 0w A @ ¥

(PT.O}
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17.

18.

19.
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The length of subtangent is 16.

(A yy,

AR ¥y,

(C) ¥y
(DY  None of the above

Reciprocal of the radius of curvature 7.
is called :
_{&)  Radius
(B) Curvature
Y™ Circle of Curvature
(D)  Nonc of the above
Intrinsic formula of radius of 18.
curvature p is :
/ﬁ
{A) dy
dy
ﬁ
(&) dé
(D) None of the above
If equation of curve p = { (r), then 19,
Pedal formula of radius of curvature
p is equal to :
/ dr
—MA) T d—
dp
r—
(B) dr
1ar
© T3

(D) None of the above

(6)

Aot A aard B
(A) ¥y,
(B) yly,
(€) ¥y,

(D) ST A @ @
am Prew & qrreai@ Feem

t

(A) PB=
(B) Tl
(C) aHdl 9D

(D) St A A A
g faen p o G B

dS
(A Gy
dy
B) 5
dS
© T

(D) IR ¥ § P 7@

R @ @ e p=(r) B,
o B p W O9RE g oawE
g

[dr
(A) dp
dp
(B) r ar
ldr
(€) r dp

(D) ST A ¥ & A&
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wp= e then p is equal to:

am
(A) (m+ ™!
/LB) - Un + nrm%l
nﬂl
© (m+DHr™

(D)  None of the above

A straight line which cuts 3 given 2|

curve in two points at infinity by j;

not itsell’ at infinity is called ;
(A) Tangent to the curve

(B) Chord of curvature

_/{{.'], Asvmptote of the curve

(D) None of the above

The necessary condition fora function
f(x) to have a maximum or 2
minimum at x = ¢ when [’(c) exists

and :

A 1(c)=0
(B) f'(c)=0
(€C) f'(c)<0
(D) f'(c)>0

(7)

UG(2)M(Sub/Gen)/10300

22,

mel

0. ﬁp:F.mﬂmt'

0 m

(A) (m+ )™
nl'l'l

(B) (m+ ™!

. nl'll
(C) (m+nrm
(D) Iodaa i § A
wiMmArAIRI R R
A Rl A e @ ARk w@d A o
¥ 78, Fead B :
(A) T P wRw
(B) g S
(C) T F JF=aed

(D) S A A T8

fpel waT f(x) & T x =
W SREW T Ao B B AT
o 9" f'(c)ﬂﬁ[(%m:

(A) f[(c)=0
(B) f'(c)=0
(C) f'(c)<0
M F)>0

[PT.0.
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3.

24.

1 imit of

| |

— + +

- £ 5 : anan
N+t nt+2

as n —»oois:
r
(A) 3
L
(B) 3
n
) -—
,,.4

UB7 ~ None of the above

&4
. 1}
If 1, -L tan" xdx , then 1_+ l,-»

is equal to ;

(A)

(B)

=
1

]_.

_er

n+l

n’ +-ln—ll“

https://www.Inmuonline.com

2. pox O AT

L . -
M=+ = —5t gy bt ;
ln’ el w2 n" +(n-1)

GG R
L.J
(A) 7
X
(B) 3
b:4
(©) P
(D) I A A Bt 7@

24, qﬁ'ln = L:y‘ tan” xdx @t I, + I,

(D)  None of the above

L4
25.  Value of L'zsin" xdx is equal to :

Sn

(A) 3
o~ In
B m
In

(C) 3

(D) None of the aboye

UG2)M(Sub/Gen ¥10300

mt:
|
A -
n
|
B
|
)y —
n+l|

(D) Ivdwr ¥ & B T

25. J'“%sin"xdx A T}
w =
®
© 3
AR L

(8)
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5
%. Valucof F[E] is equal to : 26. l‘(-;-] w9 Ty
A Jn A Jx
5 S
(B) 4‘!; (B) ;JE
3
© 3V © =
4
(D)  None of the above (D) I A ] B @
7. Beta function is defined by, when 27.  &teT %22 ER1 GRWRE, 54 m.n>0,
m, n> 0. B(m, n) is equal to : B(m. n) t ok
(A) .[::xmd(l__x)ll*ldx (A, I:xl'll'ﬂ(l_x)ﬂ-'dx
(B) ‘[0: xI'I1-| (l _ x)lhldx ' (B) I:xmql(] _ x)l'l.-*ldx
ey [Txma- ) ax © [, x"'0-xrdx
(D) None of the above (D) IR & § o
28.  The length of plane curve in Pedal 28. R¥ 7 W% i & @ @ A 7
form given by and is equal to : W AR

j- rdr j- rdr

FTF (A) i _p’
dr dr

(B) I W (B) I i - p?

J' rdr I rdr
ﬂ/ - ;rZ +PZ [C) I': +p2

(D) None of the above (D) ardea & @ o
UG(2)M(Sub/Gen)/10300 (9) (PTO/
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Lntire length of the cardioid 29
F=atl+cos0) is:
Ay da
ABY  Ba
() 6a
(DY None of the above
30.

The area of the curve x=acost. J0.
¥ =bsint is given by :
_M™ 7 ab

(B)  2rab

() rab
(D) Nonc of the above

31, Thecurves v - 4y and §? - 4y meet 31,

a1 origin O and the point A. forming

a loop. Then area of loop is equal 1o ;

(A) 112
(B) 1%
€y 113

-

(D)  Nonc of the above

32, Thecirclex?+ 32 - alrevolvesround 32,

the x-anis. then volume of solid
generated is given by :

3:133

(A) 3
"~ ina‘
S
(C) 31'|:a

(D) None of the above

LM 2)M(Sub'Gen )y 10300 (48 )

Wit & Th wt

r-all vcosty B

(A) 4a

(B) 8a

(C) On

(D) Ivem A A & W

W x =acosl. y=bsint @ ¥

= a0 Ra amn &
(A) ab

(B)  2;ab

(C)  nah

(D) 30w & 3 B
Tyl oM -4y Ry oA
RY AT e R, & qm w1 },

W AT qOaT B ¥
(A) 112
(B) 16
© 3

(D) v A @ B
Tt oyt=a? x.ow @ ad an

TR TN ¥, TR I AW W A
&

A m
( ] 41'!3

4
(B) 3"5
0 im’
© 3

(D) Ivtwe A & W W
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35.
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The moment of inertia of athin lamma 33,
ahout any anis is equal 1o its M.L.

about a paralle! anis through 1ts c.g.
together with the product of the whose

mass with the square of the distance
between :

(A)  two parallel axis
(B) two perpendicular axis
(C) an) two axis

(D) None of the above

The value of jj.\:}'{b&dy over R 34
R

whenR=10cx<c 1.0gy<g2)is

ghen by © https:/www.Inmuonline.com

Ay 32
B) 23
<) 13

(D) None of the above

The differential equation 35.

(A)  Second order first degree
(B)  Second order second degree
(C)  Second order third degree
(D) Nonc of the above

(1)

B ot ow 3 @ A & W R
W ATA I I§S .. F A
B ¥ 36 & TN W @ a3
mc.g.$mw ......... 3 d
I I GO CL G
Oz B b

(A) D §H=R W

(B) & TaEq W

L€y B A I

(D) Juiad | o
RT IIx:’ydxdy LR 3, I (|
R

R={0<xgl.0cyc<2 ¥ R
c o

(A) 312

(B) 23

(€) 113

(D) W 3 B3
FaFA FHH™

(A) Rdg =0 yom AR A
(B) R & fdm AR A
(C) Ffm = Fig af A
(D) Ivdea & & A A

(PTO.)
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36.

37.

38.

39.
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The arder of differential equation of 36

a Primitive is cqual to the number of

independent arbitrary
A Constants in Primitive
(B)  Variables in Primitive
(C)  Functions in Primitive
(D)  None of the above
The general solution of a difTerential

cquation will contain as many

arbitrary constants as the

(A)  Degree of equation
ABY™ Order of the cquation

(C)  Variables in cquation

(D) None of the above

The differential equation of the family

of curve y = A sin (mx+B) where A

and B arc arbitrary constants is :
(A) y+miy=0
(B) y" -m’y=0
(C) y'+my=0
(D) None of the above
The diffcrential equation of all circles
passing through the origin and having
their centre on the axis of X is :
(A)  2xyy'=x"-y°
(B) 2xyy'=x"+y°
(C) __xyy'=x2-y2
F,(l))'r None of the above

37.

38.

39.

(12)

w RARE 3 T TE 5
@ Rl A EA B quy
3:

(A) Dfifea # s
() BffT A =
(C) mffea & w

(D) e A @

(A T R AR
(B) gl @
(C) & 3 W

(D) Sqdaa ¥ § B T

g% y = Asin (mx+B) & T F FaHA
ol 8 A STt B anfdgd Ratim
g

(A)  y"+m?y=0

B) y'-mly=0

(C) y'+my=0

(D) I F QA P A

@ & q9A a@ ® gl @
aH T, RS % -9 W §,
g:

(A)  2xyy'=x*-y?

(B)  2xyy'=x>+y?

()  xyy'=x’-y*
(D) I & ] B @
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40.  If the difTerential equation Mdx + 40,

Ndy =0 of |, 2 order and st degree
where M and N are function of x and
y. can be put in the form l](x}dx +
f(yMy = O, then we say :

(A) Homogencous equation

(B) Reducible 1o scparation of
variable

(C)  Variable are separable

(D) None of the above

41.  Solution of differential cquationydx 41,

-xdy = xydx is :
AAYT x = kye!

(B) y=kxe

(C)  x=kye"

(D) None of the above

42. Every homogencous differential 42,

equation of Ist degree and first order
can be written as :

o gl
ABT -;=F[;]

dy _ .o
@ g

(D) None of the above

UG(2)M(Sub/Gen) 10300 (13)

R 1207 M o BR A Frem
BT Mdx + Ndy =<0, 78 M 7
N, xT y*wg,ﬂf'{xjdxr
Riydy =03 S vt m v &,
R RN

(A) GG g

(B) T B gumpt & werd
qrg

(C) = qitadig }
(D) I & A B @

FAF T ydx - xdy = xydx &
we

(A)  x=kye"
(B) y=kxe*
(C) x=kye™
(D) I 3 @ T#
e B 3 qvm wn 3 nde Sl
AT ST B T &Y X R @
T 3
dy (¥)
(A) aﬁ(‘;)
dy _gfx)
B) 4" ()‘J

d}’ nl Y
© g =* (;]

(D) vt X & ¥ W

(PTO)
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43.  Solution of differential equation  43.

dy y

==+tANn=- ig -
dx x+ x %
(A) kx = cos L
X
(B) kx =sin >
y

/(p)/kx =sin[%]

(D) None of the above

44.  The equation %*’ Py=Q,whereP 44,

and Q are funclions of x or constant
1s called :

J})/‘ Linear differential equation of
first order in y

(B) LineardifTerential equation of
first order in x

(C) Non-lincar  differential
equation in y
(D) None of the above

dy

45. If ™ +Pdy =Q is linear form, then 4S.

LLF. is equal to :

KT IP
(B) j’ oPdx
(C) o

(D) None of the above

UG(2)M(Sub/Gen)/ 10300 (14)

IR TR
%:14-‘“{'“&&:
x
(A) kx = cos L
X
X
kx =sin—
(B) y
—ainl X
(C) kx-sm[xJ

(D) I A A B+ T8
R - g”+Py=o.aﬁpmq,

dx
x & G & a1 Rerds, Tehar } :

(A) y¥ 95 #% & N @
T

(B) x% ud 79 & W 3w
o110y

(C) y¥ W& et wiwtr
(D) IR § A B T

o %+P®=Q Wes =0 Y, & LF

TR R

(A) e[Pda
®) [e
(C) ejqa:

(D) IR ¥ § A T
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46.

47.

48.

49.
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LF. of dilferential equation (| +y? )dx -

(anly - )y is

(A) !y

-

(B) o' '

IC) lt“n . )
(D) None of the above
I.E. of differential equation

dx-dy (14 xyl)xy=0is:

A
®

© 4

(D)  None of the above
Solution of differential equation
(x +y)dx -dy) =dx + dy is:

AT x-y=log(x+y)+k
(B) x+y=log(x-y)+k
(€) x+y=log(x+y)+k
(D) None of the above

The equation y = f(x, p) where

P=i‘1' lled sol :
dx 1s called solvable :

(A) fory
(B) forx
(C) forp
(D)  None of the above

46.

47.

48.

49,

(15)

I WA (1 +y3)dx= (mncly -
xdy & LE R

tin 1 )

A)
(B) clll'l l'.
(C) o Iy

(D) Iw A} A
FEFA TR (1 +yh)dx= (1anly -
X}y ® LF. ¥ :

(A) VA

o
.

< 7
(D) I90w ¥ A #f

JaFA gl

(x +yNdx-dy)=dx +dy® s } :
(A) x-y=log(xty)+k

(B) x+y=log(x-y)+k

(C) xty=log(x+y)+k

(D) 3I9dF A A K T

. d
ANHTT y = fix. p) o p=£— =

A w9 A Y

(A) y3d R
(B) x#% R
C) padfRwm

(D) Il A & B

(PTO)
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51.

53.
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lhe differentinl cquationy  px ' l{p). 50

Yy
s ualled
dx

where p

M T Clairmut's equation
(B)  Lagrange's equation
(C)  Luler's equation

(1))  None ol the above

The pencral solution of equation 51,

y px ' [(p)is obtaincd when
climinating p by

(A)  Any arbitrary constant
(3)  Any variable u
(C)  Litherany constant or variable

(1) Nonc of the above

Eliminating p betweeny  px ¢ fip) 52

and x +'(p) = 0. weget:
(A)  Singular solution
(B)  Particular solution
(C) General solution

(D)  None of the above

Orthogonal trajectories of the family 53.

of parabolasy  ax?is :

(A) xry? e

(B) xi-yr f

] a2yt

(D) None of the above

(16)

wgem @™y px * fip) wh

p Y ammmmd.
dx

(A) STz GAET™
(3) omtm | AT
(C) T AT
(D) 3T A A ¢ ¢

g y  px ¢ Hp) B AW
I p # st A &

B

(A) e @ sfdzh ferts T
(B) M @ a7 v Em

(C) o & P v D 0 R @a
(D) 39 & 4 A F#

y px‘ﬂ’p]ﬁ?x+('(pj:0*iﬁ
p @ gt T R arm §

(A) T s
(B) fad =
(C) ™M &=

(D) I A3 A @

wad y - ax! 3 FW@ B awHIG
wea b

(A) xPiyted

(B) *-yt-d
(C) x+2yt=¢?

(D) I & § & T8
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4. The general lincar differential 54,  Ret 1o a@ n 9 & g Yl
equation of ath order with constant FT et ¥

cocfTicients is of the form

" n-| n-2
&y d" ' 4" . :x:+Pl:|l "_):+P2d “.iq- ..... +Pny=x
4y pS Xip S Ly spy=X X dx
oo dr A PP, ........ P, o R ¥ o
Where P, P, oeeee. P, are all X t:

constants and X is :

/W/a function of x and y

(B) a function of x alone

(C) afunction of y alonc (C) IR y® T Fo
(D) None of the above (D) TR AR ﬂi‘ 8
§S.  The complete solution of differential 55,  JaEd FHIHT
d’y ,dy I d’y dy n
i ‘—1_4_ 4 =¢ i ——-,1-—4—-4-4 =g
cquation Wl dx +4y vis il dx y Fl ‘I\"f &l
equal to : } yaqE L
(A) (A +Bx)e®* +¢™ (A)  (A+Bx)e® +e™
(B) (A+ sz)cz’ +e? (B) (A+ sz)eh +e
.,“e)/hez' +Be* (C)  Ae® +Be™
(D) None of the above (D) I & § B T8
56. The complete solution of differential 56, TN HEHTT
d? 2
cquation M—g-)’=00523.yiscqual 3 Z—y=cos2x 2 Tif < O Y
y 2
to: TAHE:
x - 1. s 1.
(A) ce" +cpe” '35"'23 (A) ¢ +ce vgsm2x
(B) ¢’ -cet + -sl-cosh (B) ce' —c,e’ +%cos2x
ey el +ce™ —-;—cos 2x (C) ce"+ce’ - %cos!x
(D)  None of the above (D) ol § & #E
UG(2)MISub/Gen )/ 10300 (17) [PT.O]
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57. Il 4, p. ¢ be any three vectors, then
a (h'») 1S
(A) Scalar
‘/(,B?/ Vector
(C)  Meaningless
(D) None of the above
8. a-(bxc)is:
_AAY" Scalar
(B) Vector
(C)  Meaningless
(D) None of the above
59.  Duetocyclic permutation of 3. §. ¢
the scalar triple product [3 { ¢
y"does not alter
(B)  may be alter
(C)  only its magnitude alter
(D) None of the above

60. If 3. p. ¢ be the vector along three
co-terminus edges of a rectangular
parallelopiped, then scalar triple

product [ 4. p. ¢ ] represents the :
,hﬁ/ Volume of parallelopiped

(B)  Surface area of parallelopiped

(C)  Scalar area of parallelopiped

(D) None of the above

UG(2)M(Sub/Gen)/ 10300

57.

58.

59.

60.

( 18)

MR 5.5 ¢ P% A9 wRu B &

(A) e

By qRw

(C) M

(D) IE X | aF TH
a (i’\xi‘) 4

(A) s

(B) ®Rw

(C) anddm

(D) I ° A Fg T8

i-(bx¢) 3 aag g B FROT AR
B 3% |5 p ¢

(A) T8 o B

(B) oRafta & aen &

(C) 3 g qRamr ¥ oftad R ¥
(D) IVF F & o T

M 5. p. ¢ W AGABT FHARR
I @ @ we-ffaw Bl @ am
“ﬁ“a-@mhﬁmld-t&cl
fafrfea & & -

(A)  HAITC S 3 I
(B) WWiTX o = ysig A
(C) W= TS & SRY AT
(D) IR A A A
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e necessary  and sufficient  6].
condition that the three non-zero and
non-parallel vector 5. p. ¢ be

coplanar if [ 4. p. & 1s equal to:
A Zero

{BY  Non-zero

(€Y Ome

(DY None of the above

An{bad) isavector: 62.

iA)  Coplanar with 3 and

(BY  Normal 1o the plane of j and

b
(€Y Non-coplanar with 3 and

{DY None of the above

For any three vectors 3. p. &. 63,

ix|{bxi)isequalto:

(A} (3-8)b-(3b)3
(B (3-b)-(d-&)b
(€) (3 8)b+(a-b)e

{D) None of the above

(19)

s I wha Rl A @ -
M I e WRE 5. . ¢ SRR
AR (. p.c) W Y

A) T«
(B) -y
) @&

(D) IR ¥} o T8
ix(bx?) o aRw &
(A) 3 I § B 9 FEAE

B i M § B T B R
g

(€©) 3 IR p 3 v R-wed
(D) IR A | 3 @
R ot = wRw 5.5.¢c 3 R

ix(bx) oA ¥ :

(A)  (§-¢)b-(a-b)e
(B) (3-b)e-(a-&)b
©) (3-5)b+(a-b)e

(D) o & @ 9 @

[PT.0]
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65.

66.

67.
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If3.p.¢ and 3. .
reciprocal system of vector, then the
dot product of any vector of one
system, with a vector of the other
system  which does not
correspondence o it is :
(A) Zero
(B) Non-zero

l
(D) None of the above

If i,j,k beunit vectorand 7 beany 5.

space vector, then 7-jj+7-j)+
F-kk isequalto:

(A) Zero

B) 7

ey 1

(D) None of the above

H]

(AY~ Zero and they are coplanar

(B)  Zero and non-coplanar
(C)  Non-zero but coplanar
(D) None of the above

Ifg.p.cand 3. . ¢ bereciprocal ¢7.

system of vectors, then

#-8'+b-b'+&-¢ isequalto:
(A) Zero

(B) 3

C) -3

(D) None of the above

UG(2)M(Sub/Gen)/ 10300 (20)
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¢’ be the 64,

Ex(ExE)+5x(Ex§)+Ex(ﬁxE) 66.

R .5 Ma. b@ TR
et o1 3, @ 0 A B G
AR & ¥e IE, §E F F w3

ara, o god 3w A @ b B

(A) €3
B) -
<y 1

(D) e & A A @
7.k T aRw @ ol ¢ B
Rea aRm & af 7.7i+7-j)+
Pkk TR R

A) ™

(B) 7

(&)

(D) IR F § A 78
ax(bx¢)+bx(cx xd)+3x(axb)
-

(A) €8 AT 3 gueciig ¥

(B) = M -wwadiy ¥

(C) -y M wveehy ¥
(D) IRF & § o 8

Wi b.c Mg, p.o My
ql-mrﬁa“iﬁ"aéﬂaa«rbb
WY

c-¢

(A) =
(B) 3
© -3

(D) vdw X ¥ ¢ 7@
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If # be the position value of a point

-

d
P. then :’% is @ vector along tangent

to the curve at a point P in the sense
of

(A) tdecreasing
(B) tincreasing
(C) tconstamt

(D) None of the above

It ¥ =ua.where a isconstant vector 69,

: dr
and u is scalar, then —— isequalto:

dt
AAy~"Zero
B dug
(B) at
dué’-ruﬁ
© T

(D) None of the above

The derivative of a vector of constant  70.

length is :
MParallel to the vector

(B) Perpendicular to the vector
(C) Coplanar with vector

(D) None of the above

(21)

68. R ; Ry PR Rafr o9 § &

Y o R .. o A g
PR3 witen 3 ag b

(A) 1T R WY

(B) 153 @Y

(C) 1Tt X

(D) IRaa & A 3 T
R F=ud. 98 i R aRn vy
mz,a% T Y

(A) W
B i
(B) a
N d—uﬁ+u§
(©) dt dt

(D) v A | 7@

Re ol & a9 @ O~ E
%

(A) ©RE & WA

(B) RW & T
(C) uRW & WY g

(D) v A A &t @

(PT.0.)

https://www.Inmuonline.com

WO QUIJUONWIU] MMM //:sd)y



wod duIjuonwiu] Mmmm//:sdny

https://www.Inmuonline.com

. :I'; [ e ::: ] is equal to n :I'I[ N ‘:II': ] quat K :
(AT :-:t‘ (A) r‘::f—
By I~ :};:: B) > %I—;-
W &
. <y :-'It:; ©) :iT
(1)) None of the above (D) o 3 A a2
. d°f
72. I F = acosol i-h-.m..u then %—i i 72, TR ¥ =ﬁcosml+fvsinml. L T
cqual to : quat k
A o' (A) o
B) @’ (B)  -w'F
()  wr C) of
(D)  Nonc of the above (D) S9dw A & A
73.  Divergence of vector function v i.e. 73 Ry w9 v W REew el v. v
v.Visa: ?:
(A)-- Vector point function (A) uRw ﬁ% o
W(B) Scalar point function (B) Rw fa’FS 9
(C) Meaningless (C) =
(D)  None of the above (D) Iyl A A A T
4. Vois: 4. Vb %
(A)  Vector point function (A) aRw ﬁi G|
(B)  Scalar point function (B) Ry ﬁ% o
(C) Meaningless (C) onidm
(D) None of the above (D) I F zﬁg -8

UG(2)M(Sub/Gen)/10300

(2)
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76.

T7.

18.
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The curl of the velocity
is equal to ;

(A)  Ttsangular velocity
(B)

(C)  Three timeg of
\'clocit}'

(D)  None of the abov

V'(¢5] is equal to -

Mv'ﬁ+ﬁ.(v¢)

B)  ¢(Va)+a(vy)
(C) &V.a +i(Ve)
(D)  None of the aboye
Vx(V$) is equal 1o :
(A Zero

(B) Non-zero
€) v
(D) None of the above

V-(V4) is equal 10 :

(A)
(B) Zero
€ Si+tj+3k

(D) None of the above

LG2)M(Sub'Gen)10300
https://www.Inmuonline.com

Anipig bog, s

Twice of ji5 angulyy |, |
[ c

MNguly,

J.

76.

7.

78.

(23)

& 3% U2 3 I o at quEt

R

(A) I0H Infrg 3 3

(B) I6% Afm Im 3§ A B
(©) B I & dw T B
(D) Il # A B T8
V-(¢7) T

(A)  &V-3+37(V4)

(B)  ¢-(Vd)+i(Vé)

(C)  oV-d+i(V4)

(D) SF % § o @
Vx(Vé) Tt & :

(A) 1=

(B) -y

€ v

(D) I & A R A&
V-(V¢) st ®

(A) gx?*;*z:’

(B) €=

(©) ;?=+;?J+i¢k
(D) I & A FE W@

(PT.0.)
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81.
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If U =x"yzi + xy“zj + xyz'k . then

divV is equal to :

(C)  bxyz
(D) None of the above

A system of coplanar force acting
upon a rigid body can be reduced toa
single force acting at an arbitrary
choosen point together will a :

(A) Force

(B) Momentum

G}~ Couplc

(D)  None of the above

The equation of the linc acting of the
resultant of a system of coplanar
forces acting on a rigid body, when
X.Y be the resolved part of force R
along axis is :

(A)  xY+yX=G
(B) XxY-yX=G
(C) xY-yX+G=0

(D)  None of the above

UGI2IM(Sub/Gen ) 10300

19,

80.

81.

(24

https://www.Inmuonline.com

M V= x:yz'i'+xyzz]+xy?.zﬁ. a
divV Fuat & .

(A)  3xyz

(B)  2xyz

(C) 6xyz

(D) Il § ] A 7@

OF 38 Aoz 97 7 o |t @ &
OF @ H 0F T g1 9 H9 R e
W3 A O TR ST @ g
R o e @, e o

(A) @
(B)
(€) 7m

(D) I A Q I @

W 3% RS | 7 5 TR wasig
@ B wE 3 @ o @
T X T W, Xy o
%maaRasrﬁmamqmqm

¥

(A XxY+yX=G

B) xY-yx=¢G

€) xY-yX+G=0
(D) N ¥ } 8
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Let P, be system of force acting st 82,

points A; whose position vector js a,
then necessary condition for

equilibrium of system of rigid body
is :

) 2[(&xR)=0

® 2(&-P)=0

=]

© 2(aR)=0

(D)  None of the above

The necessary and sufficient 83,

condition for a system of coplanar

forces to be in equilibrium is that :

®) (3 xP)=0

(©) =0 and

(D) None of the above

(25)

TP R A, W Y @
& B, P Refa aRe 5 3 @

%% Rvz 3 43 3 s 3 R omaves
Eol ¥

) 2(3xR)=0

® 2(3-P)=0

(D) I & A 3 A

ey o & @ A @ w3

N 3 e smws It e 9@ 2
b :

A) Zﬁ:o
@) 2(3xP)=0

©) Zﬁr=°m

(D) Sw Ay

[PT.O.]
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84.  Asystem of coplanar forces acting on 84,
a rigid hbody in equilibrium if
algebraic sum of their moments about
cach of the three points on their plane,
not lying on straight line js :

Manishcs
(B)  Does not vanishes
(C)  Positive
(D)  None of the above
85. If X and Y be the resolved part of 85,
resultance of force R acling at
arbitrary point O and G be (he moment
of couple ahout O. then general
condition of cquilibrinm of coplanar
force acting on rigid body is :
(A) X=0.Y=Oand(i;—0
(B) X=0.Y=0andG=0
AT X40.Y20,G=0
(D) Nonc ofthe above
86. The algebraic sum of the virtual 86,
works done by any system of forces
is equal 1o the virtual work donc by:
Mﬂm resultant
(B)  Not the resultant
(C)  Less than the resullang
(D)  None of the above
UG(!)MtSuh’Gcnl’lll}UU (26)

W 32 T8 W 5m 1Y o) goadi
o H O 53 G A % ot o
T A Bl 3§ @ vl & ot § o
TR @ o 9, i Yar @@
TR

(A) < & arh
(B) §a 7@ ek &
(C) IS

(D) I § A #2748

IR X ol Ya@ R & qfomdt sior @
& 8, S T g 0w @ @
%ﬁnﬁo%aﬁﬁaﬂqﬁqﬁrgrq%,éﬁ
3¢ Mg @ am w7 o vl 9w
& BT R amIg Ry B

‘A) X=O,Y:0@TG¢0
{B) in,Y:Oﬁ-{G=D

(€) X%0.Yx0,G=0

(C) qftomf § 1
(D) IR A P a8
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87.

as.

89.
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If the system of coplanar force acting
on a rigid body be in equilibrium and
if the body is imagined to undergo a
slight displacement consistent with
the geometrical conditions of the
system. then the algebraic sum of
virtual works done by the forces is :
(A) Zero

(B) Non-z¢ro

(C) One

(D) None of the above

The equation of virtual work is :

W Tk
(B) Y P-di=0

© 2PRxdi=0

(D) None of the above

I a body in equilibrium be acted upon
by system of coplanar forces, the
algebraic sum of virtual work done

.
IS .
:

AT Zero

(B) Non-zero
(C) Constant

(D) None of the above

87.

89.

(27)

o o 75 RoB G 60 &7 T Feend
“ﬂmWﬂBW#Mﬁ
o5 ) it ot & T
wggwﬁqﬂmﬂ?ﬂTIﬁl.
ﬁﬂmﬂn'ﬁmlﬁﬂﬂ

fomerda am B

(A I

(B) Mg

(C) &

(D) I A A At TH
v Wi & wfeT B

i
]

(A) Z .dr. =0

B) Zf’. df 20
(C) Zf‘lxdﬁ=0

(D) TR # & A T

R wge § & Rvs o aaehy o
3 P a0 wdad @ R ¥ @
st & @ fomrda dm g R

Ay €3

(B) N

(C) Rt

(D) Jvmw & @ o &

(PT.0]
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91.

93.
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If the algebraic sum of virtual work
donc by a system of coplanar force
on a rigid body is zero for any
displacement whatever, then the
system of force is

(A) Constant

(B) Inequilibrium

(C) Zero

(D) None of the above

The virtual work donc by an
incxtensible string is

(A) Constani

(B) Zcro

(C) Non-zero

(D)  None of the above

The virtual work done by the mutual
pressurc between two bodies in

contact is :
“Zero

(B) Non-zero

(C) One

(D) None of the abave

The principle of virtual work helps to
determine the position of .......... of a
rigid body.

(A) Equilibrium

(8) Eorcc

(C) Coplanar

(D) None of the above

90, IR %

91.

93.

(28)

gmmmﬁnm#
A M I ®
m'q'\tﬁfdw%hq

ﬁt,dﬁﬂmg
(A) Rt
(B) ®gw A

)y
D) I A @ T
o e RgT G R T S

gonelt &

ol I

(A) R
) w«
« w3

(D) Irmm A A w Tl
g 8 A P 3 de ol @e
gra Reg ma smwrd & R

(A) X

(3 MR-

) @

(D) I A A B Td

vt #d @ frera #2 A A
.....Refa @ Freifta #0 & 5wz F@
. J

(A) &g

(B) W

() wweil

(D) Iv0=a & & B
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97.

UG(2)M(Sub/Gen)/ 10300

https://www.Inmuonline.com

The virtual work done by the reaction 94,

at a fixed point is :
(A) Constant
(B) Zero

(C) Non-zero
(D) One

The reaction of any smooth surface
with which the body is in contact docs
no virtual :

(A) Force
_ _(BYy Displacement
(C) Work
(D) None of the above

A coplanar force system is equivalent
to a force together with a :

(A) Displacement

(B) Work
/LG-)""EoupIc

(D) None of the above

The equation of the line of action of 97,

the force through the origin is :
(A) xY-yX=0
(B) xX-yY¥Y=0

‘/fej"xY—y){sO

(D) None of the above

(29)

mmﬁnﬁhmmw
aorh o §

(A) R

B ¥
C) W=
D)

R T @ R Rred
mﬁwa‘ﬂ*ﬁt.ﬁm""
¥

(A

(B) R

C) =

(D) I & & At T8

@ e & ... & @Y %
w3 wage ¥
(A) R

(B) =
) 3™
(D) dw & @ B @

I AW AR AW E
e ¥

(A) xY-yX=0
(B) xX-yY=0
(€C) xY-yX=0
(D) Iuwy ¥ & B

[PT.O]
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If three forces acting on a rigid body
keep it in equilibrium. then they must
be -
(A) Parallel

B " Coplanar

(C) Concurrent

(D) None of the above

99.  The equation of the line of action of

the resultant force of a coplanar force
svstem is ;

(A) xY+yX=G
{B) -‘Y-)'x =G
(C) XY-xy=G

(D) None of the above

100. Three forces keeping a body a1 rest

UG(2)M(Sub/Gen)'10300

must either be concurrent or :

(A) Parallel

(B) Perpendicular
_LCl/Cophmr

(D) None of the above

100.

(30)

(A) FEAL

(B) HeRRI

() wwd

D) Ivow A & @

% gEAdTa & O & oW ¥ @
B & Y& B FEET 8

(A xY-¥X=G
(B) xY-yX=G
C) XY-xy=G
D) I ] 9K R

@ Reg & Rremrmn o e a9 @
TN T & afe -

(A) AR
(B) T
© wwriy

(D) maﬂ@‘qﬂ
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